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T¥¤ki
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XJPS¥iÎG�N�S1, S2, · · · , STotalS§
T¥iÎG�N�T1, T2, · · · , TTotalT"

y3F"��kõ�é〈i, j〉§÷vòSiÚTj©�����iÎGSi + Tj÷vV^=5"
���Ý�óêiÎGW�±L«¤üã�Ý�Ó�iÎG�©�§=W = U +

V"XJV�±ÏLU^=��§K¡W´÷vV^=5�"'X`iÎGU =/vijos0§
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1�1Ñ\o���ê§©O�TotalS§TotalT§NÚM§�gL«8ÜS��
�§8ÜT���§8ÜS¥iÎG��ÝÚ8ÜT¥iÎG��Ý"
��TotalS1§�g�ÑS¥¤k�iÎGSi§1 ≤ i ≤ TotalS"�yz��iÎG

�ÝÑT�N§�iÎG�d26���i1|¤"
��TotalT1§�g�ÑT¥¤k�iÎGTi§1 ≤ i ≤ TotalT"�yz��iÎG

�ÝÑT�M§�iÎG�d26���i1|¤"
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ÑÑ���ê§L«÷v�¦�êié〈i, j〉kõ��"
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éu10%�êâ§1 ≤ N ≤ 100§1 ≤ M ≤ 100§1 ≤ TotalS ≤ 100§1 ≤ TotalT ≤
100"
éu30%�êâ§1 ≤ N ≤ 500§1 ≤ M ≤ 500§1 ≤ TotalS ≤ 500§1 ≤ TotalT ≤

500"
éu60%�êâ§2 ≤ N × TotalS +M × TotalT ≤ 4× 105"
éu100%�êâ§2 ≤ N × TotalS +M × TotalT ≤ 4× 106"
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